| > restart;

S = unapply(a[0] + a[l]*s + a[2]*s™2+a[3]*s"3,S);
dS := unapply(diff(S(s),s),s);

d2S := unapply(diff(dS(s),s),s);

S=s—>a_+a s+a32+a33
| 0 1 2 3

._ 2
dSrs—+a1+2azs+3a3s

d28:s—+2a2+6a35

Soustava (3.18):
> soll:=solve({S(O)=y[i-1], S(Ch[i]D=y[1], dS(O)=d[i-1],

ds(h[il)=d[1]},[a[0].a[1].a[2].a[3]1]);
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éouﬁava(327)podnﬁnkw
"> sol2:=solve({S(0)=y[i-1], S(h[i]D=y[i], d2S(0)=M[i-1],
d2s(h[i]D=M[i]1},[a[0].a[1],a[2].a[3]1]D):

]

H=Yi—14 ™% h A=V

|

Odvozeni vzorce (3.19):
> a[0]:=op(2,s0l1[1][1]); a[1]:=op(2,soll[1]1[2]);
a[2]:=op(2,sol1[1][3]); a[3]:=op(2,soll[1][4]);
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. 2d—1m+3%—1_3%+hﬁi
a, =~ >
h.
i
._2yr_1+d__1m—2yr+mdi
a, = 3

S a[2] :=collect(a[2].h[i]);
a[2] :=subs(-3*y[i1-1]+3*y[i1]=3*deltali]*h[1],a[2]);
a[2]:=collect(a[2].h[i]);

—2%_1—d _BW—1+3W

a, ==

"> a[3]:=collect(a[3].h[i]);

a[3]:=subs(2*y[1-1]-2*y[1]=-2*delta[i]*h[1],a[3]);
a[3]:=collect(al[3].,.h[1]);
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§/zorec(3.19)
> "S[i]"=S(s);
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Odvozeni vzorce (3.22)
[ > pomO0 := collect(d2S(0),h[1]):




poml := collect(d2S(h[i]).,.h[i]):

poml := subs(12*y[i1-1]-12*y[i]=-12*delta[1]*h[i1],poml):

poml := collect(poml,h[i]):

"difF(SLi],x$2) (x[1-1]) "=pom0;

"difF(S[i],x$2) (x[1]) "=poml;

pom2:=subs(i=i+1,pom0):

"diff(S[i+1],x$2) (X[i]) "=pom2;
pom3:=expand(1/2*h[1]*h[1+1]*simplify(poml =

pom2) ,delta[i1],delta[i+1]):

pom3:=pom3 + 3*h[1+1l]*delta[i]+2*h[1]*d[i]+h[1]*d[1+1]: pom3;

2 ~4d._ -20.+63,
S5y =

axz i hi
{éis}x)_qu+4%—6q
L2 i) h.
[gis ]w):‘4%‘2%+1+6§+1
8X2 i+1 0 hi+1
Mot 2N e dihd =305 43019

Odvozeni vzorce (3.27):
[ > a[0]:=op(2,so0l2[1][1]); a[l]:=op(2,sol2[1][2]);
a[2]:=op(2,s012[1][3]); a[3]:=op(2,s0l2[1][4]);

4 =Yio1
6 oM. hZ+hiM. 6
19 Moy T M TRY
a, =—
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37 6 h

> a[1]:=collect(a[1],h[iD);
a[l]:=subs((-y[i-1]+y[iD/h[i]=deltai],a[l]);

._(1M 1Mjh Dicath
7B Miea e N T h.
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Vzorec (3.27):
[ > "SL[i17=S(s);



1 1 1 , 1 Mj_g=Mps
Si:yi—1+([_§Mi—l_gMijhi+8i]S+§Mi—1S "5 n
Vzorec (3.29)
[ > R:=simplify(6*dS(h[i])-6*subs(i=i+1,dS(0)))=0: R := R -
(6*delta[1]-6*delta[i+1]): R;
M. h.+2h. M. +2h. M. + h. M. =-63.+60.
L i—11 i i+1 i i+1 i1+1 I i+1



